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wm ' KT E—1MHVETHNEAE Bd ZRoveV WE ARET HEAM
BE.EweV Hd, =1 18 k=cy+1, TE e, & w B excentricity. & ; =
max{d, : dist (v,w) = j}, j =1,2,...,k = 2, ENEH i (T) < maxi<jch1{,/6; — 1+
(S; + 4 /(5;_1 — 1} 5&3 )\1(T) < maxlgjgk_l{\/ég- -1+ \/6;-_1 - 1} i‘ZE ,U/l(T> ;Hj )‘1(T) éj\
A& T 89 Laplacian 28 [0 48 5248 [ By 5 R AFAEME. 4572, 10 &) = 2.

KH#i8  Af; Laplacian 48 [; 4B8R46 [F; & KAFAEE
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and let A denote the largest vertex degree of T. Let w € V such that d, =
Let £ = ey, + 1 where e, is the eccentricity of w. For j = 1,2,...,k — 2, let 6;
max{d, : dist (v, w) = j}. We prove that u:(T) < maxi<j<x—1{,/0; = 1+8;4+ /), — 1}
and A\ (T) < maxlgjsk,l{\/éé. -1+ \/5;71 — 1}, where p1(T") and A (T') are the largest

eigenvalue of the Laplacian matrix and the adjacency matrix of T'. Specially, we denote
that &) = 2.

Abstract Let T be a tree with vertex set V. Let d, denote the degree of v € V
1.

Keywords tree; Laplacian matrix; adjacency matrix; largest eigenvalue
MR(2000) Subject Classification 05C50, 05C05
Chinese Library Classification 0157.5

1 3| EAME

WG = (V,E) — A RIemEl R, B G R FERITIUR BRI R 510 A(G)
fl D(G). & G 1y Laplacian [ L(G) = D(G) — A(G), B8 A(G) Ml L(G) JEIFEXPRHALFE.
L(G) Ml A(G) BERFFEEIIAREH p1(G) FAL(G). iE dy v € V B, d(v,u) BT v
BT u BB

Wk H 3: 2005-09-08; #2457 H 1H: 2005-12-20
HEWH: HEWREBATRESIE (205169)




146 o % M F Lk 503

W T &, H max{d(v)|v € V(T)} = A. Stevanovi¢ 7£3C [1, EF 1] FIEAT

m(T) < A+2yA—1 (1)
Al
M(T) <2V/A—1. (2)

152 B, (2) R Godsil #E3C (3, &3 3] 45 HHAY, iX B Stevanovié FANRIAY 7 2HIE
WT (2) &

FAMBERFR— AT u [ excentricity g u B &1 HEALE TR AR RHE R

WueV(T) Hd,=A & k=ce,+1, iXH e, & u Y excentricity. % §; = max{d, :
dist (v,u) = j}, 5 =1,2,...,k — 1, Rojo 7E3C [2, EFE 3] FIFRH T

i (T) < max{2<m<a]i< 2{\/5]- — 146+ /0 — 1), Vo —1+8 + VA A+ \/Z} (3)
SISR—

i )\1(T)<max{ max {\/(Sj—1+\/5j,1—1}7\/61—1+\/Z}. (4)

2<j<k—2

3C 2] fei “BRE, AT

\/5j—1+5j+\/5j_1—1SA+2\/A—1 Xt i=2,3,....k—2.
Vo —1+6 +VA<SA+2/A—T BT 6 =A

VO =146 1 —1<2VA—-1 Xfj=2,3,....k—2.
VoL —1+VA<2VA—T1 BT 6 =A.

B, BR T 61 = A 24k, | (3), (4) NG HAH LA Stevanovié | (1), (2) & HHy LR 4
ASCRA R (3), (4) RAY— Aok, XHHEGE TR B, KBS 6 = A S 6 < A,
EALH (1), (2) A4 hp AR
W T = NEH kATZRN, B8R A HRNE. I8 dej 258 52
(G AREERE j— 1) POUEME, j=1,2,... k.

Ly JE ko b XERREA AR Ly 00 5 < BTETME j=1,2,... k— 1. &

1 Vda —1 0 0 0

Vida —1 da Vds -1 --- 0 0

I 0 Vds—1 ds - 0 0

k — )

0 0 0 v diger Vg

0 0 0 e VA dy

FHIT Ay K x b RTBRERELAERE A 19 < BTETRE j= 1,2, k- 1 XL

0 dy — 1 0 0 0

Vda —1 0 dz—1 --- 0 0

a=| Doover Lo Ll
0 0 0 e 0 g

0 0 0 o dp 0

ML o (M) ZHRE M 3.
IR 1 (WL (2, #E:8 2)  wa(Tw) € o(Ly) H M (Tk) € o(A).
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3 FEER

iIL T 2— M, BEREKRTEERE A K w & T H—PIEH de = 1. 30 k=e, + 1, XH
ew 2= w MY excentricity. & 6; = max{d, : dist (v,w) =j}, 7=1,2,...,k—1. B §,_,=1. &
T, B—NEH kA2, v 2ENR S e 2PN aMEENE. T 85 5 B
MR Oy, 5 =23, k. BAR T 2 T (— 1 FHFHE.

T2 &®T ;E#/\FFXT wTH—N1ES IBk=c,+1, XH e, & w HJ excentricity.
¥ 0% = max{d, : dist (v,w) = j}, j = 1,2,...,k = 1, H|A4

i) < s 40— 1 o1 ®)

M(T) <1<r]n<a]z< 1{\/6I_1+\/ } (6)
K 8 = 2.

B B Tp BEA b KFZRBRM, B T (8 —Z PR AR, v ZEMRK
H dw =138 T B35 j BHBURIEESR 65y, 5 = 2,3,... &, IPA, T 2 T —4-tH 7.
B 1153 i (L(Th)) € o(Ly) H M(A(Tk)) € o(Ay). XEL L M AL 52 F5 k< k HRE

H

1 o, -1 0 0 0 0

SO =1 &, L\ Jol =1 - 0 0 0

L - 0 SO e =1 8 - 0 0 0
0 0 0 Y 7 —1 0

0 0 0 N =S T 1

0 0 0 0 1 1

il

0 o, —1 0 0 0 0

8 _,—1 0 N 0 0 0

AL = 0 5 5—1 0 0 0 0
0 0 0 0 Vo =1 0

0 0 0 N =S 0 1

0 0 0 0 1 0

i Gershgorin g5
ul(Tk)<maX{ <r§132<2{\/ﬁ+5’+\/6;17} \/—+5’+1}
= {1 gy -1
H
(T <max {, max 514\ J5 1 f VTR = max {81 Je 1)
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XL 6 =2. N T & T —DNSHTFEL p1(T) < p(Tr) H A(T) < M (Tw). B, (5) il
(6) Ao

O =140+ /0 —1<A+2VA-1, j=1,2,... k-2 (7)

\/5;—1+\/5;71—1§2\/A—1, j=1,2,... k2. (8)

SC 2] RRFBURS u SRR KE A, B d, = A, H 61 = max{d, : dist (v,u) = 1}. HI, B&
T 6 =AZHN B (5) F1(6) A B Stevanovié | (1) Fl (2) 44y ARG (HAARE
o =AJE 6 <A, BEF(7) A(8) MRZALL ES (1) Fl (2) 4

Bl 1 kT —F R L. ﬁK/A.AZ?),ew=4,k=5,5/123,(%:2,5;/3:3,521:1.EX
w VBN, T AARAR T & 2

< AN

W1T B2 Ts
X B
1 V2 0 0 0 0 v2 0 0 0
V2 3 1 0 0 V2 0 1 0 o0
L= 0 1 2 V20 H AL = 0 1 0 v2 0
0 0 V2 3 1 0 0 V2 o0 1
0o 0 0 1 1 0o 0 0 1 0
HI p1(T) < 1 (Ts) < 4+ V2 H M(T) < M (Ts) < 1+v2. 1 (1) #(2) KRG Hy ERE

p(T) < 3+2v2 H M(T) < 2v2. IERBURERETUEZ — u (e,=3) FERAR A, TR R AR R
Ty S 3

u

|3 Ty
H (3) Fl (4) Ry BRI 10 (T) <4+ V2 HM(T) <1+ V3.
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